EARAROBEEIERT — 2 N— IBISH —F

20185F4A3H (X)) 1H£R2H

mﬂﬁ% 3 B4 (xwlw | lmEmml - |5 ) w8
[AE4£] 1% :250,000” ~ 23#%&:57,000 M  33&:30,000” . 437&:22,000MH . 57&:15,000 {
B ®RB mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
. . EMESH 41, -1-1- . — Iz (£iR)
1 o|vay7ra-2 3 & 1(‘ﬂ)5 1-1-1-1 | 40.3 1 :5132) Take
R:Z28—-)>r70-X B:XF—JILAHLH R4S
= SHER :43. -3-3- . - aisRe (£R)
2011 | NEIIII-I i = 1(483>1 Fowz a0 ? f;) #) T. U. K.
R:N—V9514 B:N&/T)I BR&H Ty RS9 - Tr—L
3 = 4 3 | BREBH 1:45.4 2-2-2-3 | 44.0| — 3 416 | FEEE (£R)
3155 (= =R 54.0 (24 4) (1) FRHELH
x4 T4 TN—F B:IFI/EO- R BEE
;= » == # 3 | BURF 1:46.1 6-6-4-4 |43.1| — 5 431 | BERRt (£3R)
4 3|\ TITIHETZ 56.0 ®) +46) @) J PN
Rixrvrvhs/xbE BAHHI—R> #E R
o e . IBIZET 147, ~4-5- . — EEfE (£R)
5 4| NTHT I i 3 o 1(487)7 4-4-5-5 | 44.5 4 ;1_052) i EmEe
L:T7ROAXLTEL BT —HLA—I REASS
S HEES :49. —5-6- . — JIZRBARA (£3R)
6 6| AXAINT 1 =2 5 € 54.0 1(479)1 MR R o ?_0;) BIHE
LHIIAHTIE— B:VvrJY< b )1 14503%
® 1—F—@EBIERL
1T=7r= 2,5,1,4,6,3
2a=5F= 2,5,1,4,6,3
Ja=7= 2,5,1,3,4,6
43—+ — 2,1,5,3,4,6
[ /N
BB 2 170 | | 74 K 1-2 100 | | BB & 1-2 150 | | 3EE 1-2-5 170/
B B 2 110 2= 130 B H 2-1 270 3B 2=1= 490M
1 120 1-5 120H

ABICOVWTRDTEEERROODE. TR LIV,




